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Part - III

Ñgêq¯èþÐèþ$$ / SCIENCE

(™ðþË$Væü$ Ðèþ$ÇÄæý$$ C…XÏ‹Ù ¿êÚë…™èþÆæÿÐèþ$$Ë$ / Telugu & English Versions)

çÜÐèþ$Äæý$Ðèþ$$ : 2½ Væü…r ] [ VæüÇçÙx Ðèþ*Ææÿ$PË$ : 75

Time Allowed : 2½ Hours ] [ Maximum Marks : 75
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>∑eTìø£   : á Á|üX¯ï|üÁ‘·eTT eT÷&ÉT $uÛ≤>±\qT ø£*– ñ+≥T+~.
Note : This question paper contains three sections.

$uÛ≤>∑+ - I / SECTION - I

(e÷s¡Tÿ\T : 15) / (Marks : 15)

>∑eTìø£ : (i)  nìï 15  Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 15x1=15

(ii) Áu≤¬ø{Ÿ‡˝À Ç∫Ãq Á|ü‘ê´e÷ïj·÷\ qT+∫ dü¬s’q düe÷<Ûëq+ m+#·Tø√+&ç.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.
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1. ÇqT‡*Hé Ä<Ûë]‘· #·¬øÿs¡ yê´~Û e\q u≤~Û+#·ã&É¶ e÷qe⁄ì ø√¢eTeTT˝À __________ ø£D≤\T
ø°åDÏ+∫j·TT+&ÉTqT.

(Ä˝≤Œ¤, ;{≤, >±e÷, &Ó̋ ≤º)
In persons suffering from insulin - dependent diabetes, __________ the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. |ü⁄{Ïºq _&É¶≈£î yÓTT≥ºyÓTT<ä≥ Çe«ã&ÉT yê´~Û ìs√<Ûäø£ {°ø±  _________.

(H√{Ï <ë«sê b˛*jÓ÷, &ç|æ{Ï, &ç|æ{Ï eT]j·TT zs¡̋ Ÿ b˛*jÓ÷, _dæõ)
The first vaccine injected into a just born baby is _________.

(Oral polio, DPT, DPT and Oral polio, BCG)

3. yê´~Û dü+Áø£eTD e´edüú̋ À dü+ã+<Ûä+ ø£*–q $Hêfī Á>∑+~∏  __________.

(<∏Ó’sêsTT&é, <∏Ó’eTdt, nÁ&çq˝Ÿ, |æ˙j·T˝Ÿ)
The endocrine gland related to the immune system is __________.

(Thyroid, Thymus, Adrenal, Pineal)

4. ˙{Ï̋ À Hêqu…{Ïºq $‘·ÔqeTTqT n<äTeTTq|ü⁄&ÉT __________ <ë«sê ∫qï ˙{Ï _+<äTe⁄ yÓ\T|ü*øÏ
e#·TÃqT.

(|üÁ‘· s¡+Á<Ûë\T, yêj·TTs¡+Á<Ûë\T, n+&É<ë«s¡eTT, Á|ü<∏äeT eT÷\eTT)
If a water soaked seed is pressed, a small drop of water comes out through the
__________.

(Stomata, Lenticel, Micropyle, Radicle)

5. $TÁ≥˝Ÿ ø£yê≥eTT __________ eT<Ûä´ ø£qã&ÉTqT.

(≈£î&ç ø£]íø£ eT]j·TT ≈£î&ç »sƒ¡]ø£, m&ÉeT ø£]íø£ eT]j·TT m&ÉeT »sƒ¡]ø£, ≈£î&ç »sƒ¡]ø£ eT]j·TT |ü⁄|ü⁄dü
<ÛäeTì, m&ÉeT »sƒ¡]ø£ eT]j·TT eTVü‰ <ÛäeTì)
Mitral valve is found between __________.

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery,  Left ventricle and aorta)
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6. yÓ÷H√Á{ÀbÕ yÓTTø£ÿ˝À b˛wüø£ |ü<ësêú\qT XÀwæ+#·Tø=qT≥≈£î >∑\ Á|ü‘˚́ ø£yÓTÆq ẙs¡T¢  __________.

(Vü‰k º̨]j·÷, yÓTÆø√¬s’C≤ ẙs¡T¢, n+{Ïô|≥Tºø=qT ẙs¡T¢, nãT“s¡|ü⁄ ẙs¡T¢)

In monotropa the special type of root which absorbs nourishment is the __________.

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

7. n&ÉT>∑Tq #̊]q eT]j·TT ‘˚̋ …&ç |ü<ësêú\qT á X̄óB∆ø£s¡D |ü<ä∆‹ <ë«sê ‘=\–+#·e#·TÃqT.

(yÓTT<ä{Ï <äX̄ X̄óB∆ø£s¡D, ¬s+&Ée <äX̄ X̄óB∆ø£s¡D, eT÷&Ée <äX̄ X̄óB∆ø£s¡D, ñ|ü]‘·\ X̄óB∆ø£s¡D)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

8. düeTTÁ<ä|ü⁄ ̋ À‘·T˝À¢øÏ yÓfi‚fl yês¡T XÊ«dæ+#·T≥ ø=s¡≈£î ñ|üjÓ÷–+#·T yêj·TTe⁄\ $TÁX̄eTeTT  __________.

(V”≤*j·T+ ` Äø°‡»Hé, Äø°‡»Hé ` HÓ’Á{À»Hé, ôV’≤Á&√»Hé ` HÓ’Á{À»Hé)

The mixture of gases used by deep-sea divers is __________.

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

9. mdæ{Ïø±eT¢eTT˝À $ì>∑sY ø£\<äT. ô|s¡T>∑T˝À ñ+& ̊ÄeT¢eTT   __________ .

(˝≤øÏºø̆ ÄeT¢eTT, {≤sêº]ø̆ ÄeT¢eTT, dæÁ{Ïø̆ ÄeT¢eTT)

Vinegar is present in acetic acid.  Curd contains __________ acid.

(Lactic acid, Tartaric acid, Citric acid)

10. ùd+Á~j·T düẙTàfīqeTT\ìï+{Ïø°  Ä<Ûës¡yÓTÆq eT÷\ø£eTT    __________  Á>∑÷|t̋ À ø£\<äT.

(14 e, 15 e, 16 e)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.

(14th group, 15th group, 16th group)
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11. ˝Òf…ø̆‡ qT+∫ s¡ã“s¡T düÿ+<äq+ #̊ùd+<äT≈£î  __________  ñ|üjÓ÷–+#·ã&ÉT‘·T+~.

(Ç<∏äH√˝Ÿ, Ç<∏äH√sTTø̆ ÄeT¢+)

__________ is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

12. Ádü÷ÿ π>õ nH~̊ n‹ ∫qï edüTÔe⁄\ jÓTTø£ÿ |ü]e÷D≤ìï  __________ ø=\‘· es¡≈£î K∫Ã‘·+>±
ø=\Te>∑\ kÕ<Ûäq+ n>∑TqT.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto __________.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. Á<äe´ẙ>∑ e÷s¡TŒ πs≥T≈£î düe÷qyÓTÆq uÛÖ‹ø£ sê• __________.

(kÕúqÁuÛÑ+X̄+, ‘·«s¡D+, ã\+, Á|ü#√<äq+)

The physical quantity which is equal to the rate of change of momentum is __________.

(displacement, acceleration, force, impulse)

14. øÏ̋ Àyê{Ÿ >∑+≥ nH̊~ __________ jÓTTø£ÿ Á|üe÷D+.

(X¯ø£à uÛÒ<ä+ , $<äT´‘Y kÕeTs¡ú́ +, $<äT´‘Y X̄øÏÔ, $<äT´‘Y Á|üyêVü≤+)

Kilowatt-hour is the unit of __________.

(potential difference, electric power, electric energy, charge)

15. ˇø£ ˝ÀVü≤|ü⁄ yêVü≤ø£+ >∑T+&Ü $<äT´‘Y Á|üeVæ≤+#·&É+ e\q <ëì #·T≥÷º  __________ @s¡Œ&ÉT‘·T+~.

(nj·TkÕÿ+‘· πøåÁ‘·+, j·÷+Á‹ø£ X̄øÏÔ, Áù|]‘· $<äT´‘Y )

An electric current through a metallic conductor produces __________ around it.

(magnetic field, mechanical force, induced current)
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$uÛ≤>∑+ - II/SECTION - II

(e÷s¡Tÿ\T : 40) / Marks : 40)

>∑eTìø£ : @yì̊ Çs¡yÓ’ Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç : 20x2=40

Note : Answer any twenty questions :

16. nqTe+•ø£ >∑TD≤\T $$<Ûä C≤‘·T˝À¢ eT]j·TT ̌ πø C≤‹˝Àq÷ yÓ’$<Ûä́ +>± ñ+{≤sTT. ~>∑Te dü+<äsê“¤\˝À
Ä yÓ’$<Ûë´\ ù|s¡¢qT ‘Ó*j·TCÒj·T+&ç.

(i) e÷qe⁄˝À¢ ø£+{Ï s¡+>∑T ˙\+, q\T|ü⁄, qX¯´+, Ä≈£î|ü#·Ã ‘·~‘·sê\T>± ñ+≥T+~.
Bìï   __________ yÓ’$<Ûä́ + nì n+{≤s¡T.

(ii) ≈£î+<̊\T eT]j·TT @qT>∑T\˝À <ä+‘· $Hê´dü+ π̌ø $<Ûä+>± ñ+&É<äT. Bìï   __________
yÓ’$<Ûä́ + nì n+{≤s¡T.

The inheritable characters vary in different species and within the same species.  Name
the variation in the following cases.

(i) The eye colour among the human beings are varied as blue, black, brown, green
etc.  This is called as __________ variation.

(ii) The dentition in the rabbit and the elephant are not the same.  This is called as
__________ variation.

17. »qT´ Ç+õ˙]+>¥ n+fÒ @$T{Ï ?
What is Genetic Engineering ?

18. »‘·qT >∑T]Ô+#·&É+ <ë«sê ~>∑Te yê{Ïì »‘·|üs¡Ã+&ç :

(Wwü<Ûë\T, Ç+<Ûäq+, dü÷ø£åàJe⁄\T, JeÁøÏj·T, ø±s¡“ìø±eT¢eTT\T)

(i) {°ø± (ii) düVü≤»yêj·TTe⁄

(iii) dæÁ{Ïø̆ ÄeT¢+ (iv) $≥$TqT¢
Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (ii) Natural gas,

(iii) Citric acid, (iv) Vitamins
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19. eTsêdüàdt eT]j·TT ø±«wæj·÷s¡ÿsY yê´<ÛäT\T Ábı{°Hé ˝À|üeTT e\q ≈£\T>∑TqT. ñ_“q ø£&ÉT|ü⁄ eT]j·TT
eTTKeTT yê#·T≥ Bì \ø£åD≤\T. á \ø£åD≤\T dü¬s’qyê ? ø±ì#√ e÷]Ã Áyêj·TTeTT.
Marasmus and Kwashiorkar are both protein deficiency defects.  Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face.  Are these symptoms for
the above diseases correct ?  If not, correct it.

20. ÁøÏ+~ |ü{≤ìï ^∫ Çe«ã&çq ∫{≤ÿ düVü‰j·T+‘√ uÛ≤>±\qT >∑T]Ô+#·+&ç :
Copy the diagram and label the parts with the help of the clues given :

(i) Bìì n~Ûeèø£ÿ Á>∑+~∏ nì ≈£L&Ü n+{≤s¡T.

(ii) Ç~ ¬s+&ÉT Vü‰s√àqT\qT Ádü$+#·TqT. n$ n˝À¶d”ºsêHé eT]j·TT ø±]ºk˛Hé\T.
(i) It is otherwise called supra renal gland.

(ii) It secretes two hormones, namely aldosterone and cortisone.

21. Çe«ã&çq |ü≥eTTqT ^∫, ÁøÏ+~ uÛ≤>∑eTT\qT >∑T]Ô+#·+&ç.

(i) u≤Vü≤´ ø£e#·eTT (ii) Hêfī πø+Á<äø£eTT
Draw the given diagram and label the following parts.

(i) Exine (ii) Tube nucleus
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22. m&Ü]˝À $»j·Te+‘·+>± J$+#̊+<äT≈£î ˇ+f…̋ À #√≥T #̊düT≈£îqï @ẙì Hê\T>∑T nqT≈£L\‘·\qT
ù|s=ÿq+&ç.
Mention any four adaptations seen in the camel so that it can live successfully in deserts.

23. _Ûqï+>± ñqï<ëìï m+#·Tø=q+&ç.

(i) >√¢ãT*Hé,  s¡ø£ÔHê[ø± >∑T#·Ã¤+, ô|ò’Á_H√C…Hé, n\T“$THé

(ii) |üs¡«‘· ÁbÕ+‘· ẙTø£, ô|<ä› ø=eTTà\Tqï >=Á¬s, ã÷&ç<äs¡+>∑T m\T>∑Tã+{Ï, d”̋ Ÿ
Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(ii) mountain goat, big horned sheep, grizzly bear, seal

24. ~>∑Te |ü{Ïºø£qT |üP]Ô #̊j·T+&ç :

$düs¡®ø£ nej·Te+ ãVæ≤wüÿ]+#·ã&ÉT s¡÷|ü+ $düs¡®ø£ ñ‘·ŒHêï\T

eT÷Á‘·|æ+&Ü\T eT÷Á‘·+

HÓ’Á{À»Hé e´s¡ú |ü<ësêú\T -       

j·T÷]j·÷, j·T÷]ø±eT¢eTT,      

ÁøÏj·÷{ÏHé yÓTT<ä\T>∑Tq$

}|æ]‹‘·TÔ\T ì#êÃ¤«dü >±*             .

#·s¡àeTT             . n~Ûø£˙s¡T, ñ|ü⁄Œ

Complete the table given below :

Excretory organ Disposed as Excretory products

Kidneys Urine
Nitrogenous waste products - 

Urea, Uric acid, Creatinine etc.

Lungs Exhaled/Expired air           __________  .

Skin           __________  . Excess water and salts
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25. ~>∑Te ∫Á‘êìï |ü]o*+#·+&ç.

(i)   ∫Á‘·+A eT]j·TT ∫Á‘·+ B \˝À #·÷|æ+∫q nqTes¡ÔHê\ s¡ø±\qT ‘Ó*j·TCÒj·T+&ç.

(ii)  á $<ÛäyÓTÆq nqTes¡Ôq+ $TyÓ÷kÕ≈£î @ $<Ûä+>± _Ûqï+ ?
Observe the diagram.

(i) Mention the type of movements shown in figure A and B.

(ii) How does this movement differ from the movement of mimosa ?

26. #·¬øÿs¡ Á<ëeD+ Ä\ÿVü‰\T>± e÷s¡TŒ #Ó+<äTqT.

(i) ô|’q ‘Ó*Œq ÁøÏj·T˝À m≥Te+{Ï Á|üÁøÏj·T »s¡T>∑T#·Tqï~ ?

(ii) @ dü÷ø£åàJ$ bÕ˝§ZqT#·Tqï~ ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?

(ii) Which micro - organism is involved ?

27. ~>∑Te yê{Ïì »‘·|üs¡#·+&ç :
A      B

(a) myÓTTH=f…*ø˘ (i) nHÓ*&é‡

(b) j·T÷]jÓ÷f…*ø˘ (ii) #˚|ü

(c) j·TT]ø√f…*ø˘ (iii) ø°ås¡<äeTT

(d) HÓÁ|òæ&çj·÷ (iv) |ü≈£åî\T
Match the following :

A      B

(a) Ammonotelic (i) annelids

(b) Ureotelic (ii) fish

(c) Uricotelic (iii) mammal

(d) Nephridia (iv) birds
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28. dü]jÓÆTq b˛wüø£kÕúsTT\˝À ÁøÏ+~ JesêX̄ó\qT ñ+∫ ÄVü‰s¡|ü⁄ >=\TdüTqT s¡÷bı+~+#·+&ç.

(bÕeTT, >∑&ç¶, Á>∑<ä›, ø£|üŒ, $T&É‘·)

Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

29. s¡yêD≤≈£î ñ|üjÓ÷–+#̊ $$<Ûä Á<äes¡÷|ü Je Ç+<ÛäHê\T @$ ? (@ẙì Hê\T>∑T)

What are the various liquid biofuels for transportation ?  (Any four)

30. dü]jÓÆTq ‘·s¡>∑ì eT]j·TT ‘·]¬>&ÉT X̄øÏÔ eqs¡T\T »‘·|üs¡#·TeTT.

eqs¡T\T A B C

‘·s¡>∑ì H˚\u§>∑TZ >±* ô|Á{À*j·T+

‘·]¬>&ÉT ôV’≤Á&√»Hé düVü≤» yêj·TTe⁄ kÂs¡X¯øÏÔ 

Match the suitable renewable and non-renewable sources.

Sources A B C

Renewable Coal Wind Petroleum

Non - Renewable Hydrogen Natural gas Solar energy

31. nH̊ø£ $T*j·THé dü+e‘·‡sê\≈£î |üPs¡«eTT uÛÑ÷$T˝À |üP&çb˛sTTq JeÁ<äe´sê• $∫Ã¤qï+ ø±e&É+
e\q •˝≤» Ç+<ÛäHê\T s¡÷bı+<äT#·Tqï$. @ẙì ¬s+&ÉT •˝≤» Ç+<ÛäHê\qT ‘Ó\Œ+&ç.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago.  Name any two fossil fuels.

32. ÁuÖìj·THé #·\qeTT n+fÒ @$T{Ï ?

What is Brownian movement ?
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33. 50  Á>±eTT\ ˙{Ï̋ À 20 Á>±eTT\ kÕ<Ûës¡D \eD≤ìï ø£]–+∫q≥¢sTT‘,̊ Á<ëeDeTT jÓTTø£ÿ >±&ÛÉ‘·qT
uÛ≤s¡ XÊ‘·eTT˝À ‘Ó\Œ+&ç.
Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

34. 12.046×1022  sê– |üs¡e÷DTe⁄˝À¢ >∑\ yÓ÷˝Ÿ‡ dü+K´qT …̋øÏÿ+#·+&ç.
Calculate the number of moles in 12.046×1022 atoms of copper.

35.  ‘A’ eT]j·TT  ‘B’  nqT ¬s+&ÉT ;ø£s¡T\˝À ÄeT¢eTT rdüTø√ã&çq~. ‘A’ ̋ Àì ÄeT¢eTT ̇ {Ï̋ À bÕøÏåø£+>±
$jÓ÷>∑+ #Ó+~q~. ‘B’ ˝Àì ÄeT¢eTT |üP]Ô>± $jÓ÷>∑+ #Ó+~q~.

(i) ‘A’ eT]j·TT  ‘B’ \˝Àì ÄeT¢eTT\˝À ã\V”≤q eT]j·TT ã\yÓTÆq ÄeT¢eTT\T @ẙ$ ?

(ii) ã\V”≤q ÄeT¢eTT eT]j·TT ã\yÓTÆq ÄeT¢eTT\≈£î ˇø£ ñ<ëVü≤s¡D Áyêj·TTeTT.
Two acids ‘A’ and ‘B’ were kept in beakers.  Acid ‘A’ undergoes partial dissociation in
water, whereas acid ‘B’ undergoes complete dissociation in water.

(i) Of the two acids ‘A’ and ‘B’.  Which is weak acid and which is strong acid ?

(ii) Give one example for weak acid and strong acid.

36. _Ûqï+>± ñqï <ëìï m+#·Tø√+&ç :

(i) nùd+Á~j·T Äe÷¢\T : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) øå±s¡ dü«uÛ≤e+ (uÒdæø˘ H˚#·sY) : s¡ø£Ô+, uÒøÏ+>¥ kı&Ü, yÓì>∑sY, Ç+{À¢ ñ|üjÓ÷–+#̊ nyÓ÷àìj·÷
Pick the odd one out :

(i) Inorganic acids : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) Basic Nature :  Blood, Baking Soda, Vinegar, Household ammonia

37. ~>∑Te Á|üe#·Hê˝À¢ @y˚ì ‘·|ü⁄Œ\T+fÒ dü]~<ä›+&ç.

(i) ¬s+&Ée |”]j·T&é ∫qï |”]j·T&é. Ç~ ¬s+&ÉT eT÷\ø±\qT e÷Á‘·ẙT ø£*– ñ+~.

(ii) Á>∑÷|t 18 eT÷\ø±\qT Vü‰˝ÀC…Hé ≈£î≥T+ã+ nì n+{≤s¡T.
Correct the mistakes, if any in the following statement.

(i) Second period is a short period.  It contains only two elements.

(ii) Group 18 elements are called Halogen family.
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38. ìsê∆s¡D :   sê– bÕÁ‘·\qT X̄óÁuÛÑ+ #̊j·T≈£î+&Ü ñ+∫‘ ̊Ä≈£î|ü#·Ãì s¡+>∑T bıs¡ @s¡Œ&ÉT‘·T+~.
ø±s¡D+ :   á bıs¡ @s¡Œ&ÉT≥≈£î >∑\ ø±s¡D+ øå±s¡ ø±|üsY ø±s=“H{̊Ÿ.
(a) ìsê∆s¡D eT]j·TT ø±s¡DeTT dü]jÓÆTq$ eT]j·TT ˇø£<ëì‘√H=ø£{Ï dü+ã+<Ûä+ ø£*Zj·TTqï$.
(b) ìsê∆s¡D dü]jÓÆTq<̊ nsTT‘,̊ ø±s¡D+ ìsê∆s¡D≈£î dü+ã+~Û+∫q~ ø±<äT.
Assertion :   A greenish layer appears on copper vessels, if left uncleaned.
Reason :   It is due to the formation of a layer of basic copper carbonate.
(a) Assertion and reason are correct and relevant to each other.
(b) Assertion is true but reason is not relevant to the assertion.

39. C
2
H

4
O
2 
nDT bòÕs¡÷à˝≤qT ø£*–q ˇø£ ø±s¡“q düẙTàfīqeTT (A)  }s¡>±j·T\qT ì\«j·TT+#·T≥˝À

$]$>± ñ|üjÓ÷>∑|ü&ÉTqT. á düẙTàfīqeTT Ç<∏äH√˝Ÿ‘√ #·s¡́  »]|æ ‹j·T´{Ï yêdüq (düTyêdüq) >∑\
düẙTàfīqeTT (B) qT @s¡Œs¡#·TqT.
(i) düẙTàfīqeTT A eT]j·TT B \qT >∑T]Ô+#·+&ç.
(ii) Á|üÁøÏj·T ù|s¡TqT eT]j·TT dü+ã+~Û‘· s¡kÕj·Tq #·s¡́ qT Áyêj·T+&ç.
An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C

2
H

4
O

2
.  This compound reacts with ethanol to form a sweet smelling

compound (B).
(i) Identify the compounds A and B.
(ii) Name the process and write the corresponding chemical equation.

40. ìsê∆s¡D (A) : e÷qe X̄Øs¡+˝Àì n+‘·s¡ nej·Tyê\qT X̄øÏÔe+‘·yÓTÆq nj·TkÕÿ+‘· πøåÁ‘êìï
Á|üdü]+|üCÒdæ kÕÿì+>¥ #̊ùd+<äT≈£î m+ÄsY◊ $ìjÓ÷–+#·ã&ÉT‘·T+~.

ø±s¡D+ (R) : X̄øÏÔe+‘·yÓTÆq nj·TkÕÿ+‘· πøåÁ‘êìï $ìjÓ÷–+#·&É+ e\¢, n~Ûø£ |üè<Ûä:ø£ÿs¡ (ôV’≤
]»\÷´wüHé) ∫Á‘·|ü{≤\T bı+<ä>∑\+.

(a) (A)  ndü‘·́ + eT]j·TT  (R) dü‘·́ +
(b) (A) dü‘·́ + eT]j·TT (R) ndü‘·´+
(c) (A) eT]j·TT (R) ¬s+&É÷ ndü‘·́ +
(d) (A) dü‘·́ + eT]j·TT (R), (A) qT düeT]údüTÔ+~.
Assertion (A) : MRI is used to scan the inner organs of human body by penetrating

very intense magnetic field.
Reason (R)     : By use of very intense magnetic field, very high resolution images can

be obtained.
(a) (A) is incorrect and (R) is correct.
(b) (A) is correct and (R) is incorrect.
(c) Both (A) and (R) are incorrect.
(d) (A) is correct and (R) supports (A).
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41. 1 øÏ̋ À Á<äe´sê• >∑\ ˇø£ edüTÔe⁄  20 MT≥s¡¢ m‘·TÔ qT+∫ C≤s¡$&ÉTeã&çq~. n~ uÛÑ÷$Tì &Ûûø=ì
eTs¡\ n+‘ ̊ẙ>∑+‘√ ô|’¬ø¬>ôdqT.  nsTT‘,̊ Á<äe´ẙ>∑+˝À e÷s¡TŒqT ø£qT>=q+&ç.  (g = 10 m/s2 >±
rdüTø√+&ç)

An object of mass 1 kg is dropped from a height of 20 m.  It hits the ground and
rebounds with the same speed.  Find the change in momentum

(Take g = 10 m/s2)

42. ~>∑Te yê{Ïì »‘·|üs¡Ã+&ç :

|ü]ø£s¡+ ∫Vü≤ï+

(a) $<äT´‘Y |òüT≥+ (i)

(b)
|ü¢>¥ ø° ( Ò̋ø£) dæ«#Y 

(eT÷dæẙj·Tã&çq~)
(ii)

(c) r>∑\ dü+<Ûëq+ (iii)

(d) R ìs√<Ûä+ >∑\ ìs√<Ûäø£+ (iv)

Match the following :

COMPONENTS SYMBOLS

(a) An electric cell (i)

(b) Plug key (or) switch (closed) (ii)

(c) A wire joint (iii) 

(d) A resistor of resistance R (iv)
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43. U≤∞\T |üP]+#·+&ç :

(i) $<äT´‘Y X¯ø£à uÛÒ<ä+ : y√˝Ÿº MT≥s¡T ; nsTT‘ ̊$<äT´‘Y Á|üyêVü≤+ : ___________

(ii) »\ $<äT´‘Y π≈+Á<ä+ : dü+Á|ü<ëj·Tø£ X̄øÏÔ eqs¡T  ;  nsTT‘˚, kÂs¡X̄øÏÔ : __________

Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current : ___________

(ii) Hydro power plant : Conventional source of energy ; then Solar energy :
__________

44. düeTTÁ<ä ñwüí X̄øÏÔì >∑T]+∫ $e]+#·+&ç.

Write about ocean thermal energy.

45. ÁøÏ+~ øÏs¡D |ü≥+ |ü⁄{≤ø±s¡ <äs¡ŒD+˝À Á|ü‹_+ã+ @s¡Œ&É&Üìï dü÷∫düTÔqï~.

(a) n+<äT˝Àì ‘·|ü⁄ŒqT >∑T]Ô+∫, dü]jÓÆTq øÏs¡D |ü{≤ìï ^j·T+&ç.

(b) MTs¡T dü] #̊dæq <ëìøÏ ‘·–q ø±s¡D≤\T ‘Ó\|ü+&ç.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b) Write the justifications for your corrections.
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46. ô|ò¢$T+>¥ ≈£î&ç#̊‹ ìã+<ÛäqqT ìs¡«∫+#·+&ç.

Define Fleming’s right hand rule.

47. π≈+Á~ø£s¡D ø£≥ø£eTT\ eTT+<äT ˇø£ edüTÔe⁄qT 25 cm <ä÷s¡+˝À ñ+∫q <ëì Á|ü‹_+ãeTT <ëì
Á|üø£ÿq 20 cm <ä÷s¡+˝À @s¡Œ&çq, Ä ø£≥ø±\ HêuÛ≤´+‘·s¡eTT m+‘· ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

$uÛ≤>∑+ - III/SECTION - III

(e÷s¡Tÿ\T : 20) / Marks : 20)

>∑eTìø£ : (i) Á|ür uÛ≤>∑+ qT+∫ ̌ ø£ Á|üX̄ïqT m+#·Tø√e&É+ <ë«sê @ẙì Hê\T>∑T Á|üX̄ï\≈£î düe÷<Ûëq+
sêj·T+&ç.

(ii) Á|ür Á|üX̄ï≈£î ◊<äT e÷s¡Tÿ\T.

(iii) nedüs¡yÓTÆq #√≥ u§eTà\T ^j·T+&ç.

Note : (i) Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(iii) Draw diagrams wherever necessary.

uÛ≤>∑+ - I/PART - I

48. MT ÁbÕ+‘·+˝À eT Ò̋]j·÷ yê´|æ+∫ ñqï~.

(a) Bìì ìj·T+Á‹+#·T≥≈£î MT ÁbÕ+‘·eTT˝À >∑\ n~Ûø±s¡T\≈£î dü]jÓÆTq Ä˝À#·qqT Çe⁄«eTT.

(b) eT Ò̋]j·÷ yê´~Û \ø£åD≤\qT sêj·T+&ç.

There is a widespread outbreak of malaria in your area.

(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.

4x5=20
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49. (a) ~>∑Te yê´K´qT |üP]Ô #̊ùd+<äT≈£î Ç∫Ãq C≤_‘ê˝Àì |ü<ë\qT ñ|üjÓ÷–+#·+&ç.

(yÓHÓïeTTø£, eTè~«, ˝Ö‹ø£fī, yÓT<ä&ÉT bıs¡\T, esê•ø£)

πø+ÁBj·T Hê&û e´edüú eT÷&ÉT s¡ø£åD bıs¡\#˚ ø£|üŒã&ç j·TTqï~. M{Ïì dü+j·TTø£Ô+>±
     (1)      n+<äTs¡T. ø£bÕ\+ eT]j·TT      (2)      \ øÏ+<ä, πø+ÁBj·T Hê&û e´edüú≈£î yÓ\T|ü\
neT] j·TTqï ¬s+&ÉT eT+<äyÓTÆq bıs¡\qT      (3)      n+<äTs¡T. s¡ø£Ô Hêfi≤\‘√ ≈£L&çq  |ü\T#·ì
eT<Ûä́  bıs¡qT      (4)      n+{≤s¡T. yÓT<ä&ÉTqT, ø£X‚s¡T Hê&û <ä+&Üìï Äe]+∫ #ê˝≤ düìïVæ≤‘·+>±
neT]j·TTqï ˝À|ü* |ü\T#·ì düTìï‘· bıs¡qT      (5)      n+<äTs¡T.

(b)  @ẙì 5 s¡ø±\ Hê&û ø£D≤\ s¡ø±\qT Áyêj·T+&ç.

(a) Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively

called      (1)     .  The outermost cover lying below the skull and      (2)      is double

thick and is called      (3)     .  The middle covering is thin and vascularised and is

called      (4)     . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called
     (5)     .

(b)  Name any 5 types of nerve cells.

uÛ≤>∑+ - II/PART - II

50. ~«<äfī ;» $‘·Ôq ìsêàDeTTqT #·ø£ÿ{Ï &Éj·÷Á>±yéT‘√ e]í+#·+&ç.

Describe the structure of a dicot seed with a neat diagram.

51. (a) Vü≤]‘· s¡kÕj·Tq XÊÁdüÔ+ n+fÒ @$T{Ï ?

(b) Vü≤]‘· s¡kÕj·Tq XÊÁdüÔ+ jÓTTø£ÿ uÛÑ$wǘ ‘Y ñ‘êŒ<äq\ >∑T]+∫ sêj·T+&ç.

(a) What is Green Chemistry ?

(b) Write the future products of Green Chemistry.
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uÛ≤>∑+ - III/PART - III

52. |üs¡e÷DTe⁄ >∑T]+∫ düŒwüºyÓTÆq ∫Á‘·+ n+~+#̊+<äT≈£î ‘·s¡+>∑ dæ<ë∆+‘·+, nì•Ã‹ dü÷Á‘·+ eT]j·TT
Ç‘·s¡ ‘êC≤ |ü]XÀ<Ûäq |òü*‘ê\qT Ä<ÛäTìø£ |üs¡e÷DT dæ<ë∆+‘·+ d”«ø£]k˛Ô+~. Ä<ÛäTìø£ |üs¡e÷DT
dü÷Á‘·+ |ü]XÀ<Ûäq |òü*‘ê\ >∑T]+∫ ‘Ó*j·TCÒj·T+&ç.
Modern atomic theory takes up the wave concept, principle of uncertainty and other
latest discoveries to give a clear cut picture about an atom.  State the findings of modern
atomic theory.

53. yÓTT˝≤dædt qT+∫ Ç<∏äHê˝Ÿ ‘·j·÷Øì $e]+#·+&ç.
Explain the manufacturing of Ethanol from Molasses.

uÛ≤>∑+ - IV/PART - IV

54. (a) ªq÷´≥Hé yÓTT<ä{Ï ìj·TeT+ ã\+ jÓTTø£ÿ dü«uÛ≤yêìï ‘Ó\T|ü⁄‘·T+~µ. Bìï düeT]ú+#·+&ç.
(b) 10  øÏ̋ À\T eT]j·TT 15 øÏ̋ À\ Á<äe´sêX̄ó\T >∑\ ¬s+&ÉT edüTÔe⁄\T Áø£eT+>± 10 ms−1 eT]j·TT

5 ms−1 ‘=* ~XÊẙ>±\‘√ Á|üj·÷DÏdüTÔ+&É&É+ |ü≥+˝À #·÷|üã&ç+~. n$ ˇø£<ëì‘√H=ø£{Ï
n_Û|òü÷‘·+ #Ó+<äT‘·THêïsTT. n_Û|òü÷‘·+ ‘·s¡Tyê‘· yê{Ï ~XÊẙ>±\T Áø£eT+>±  4 ms−1 eT]j·TT
9 ms−1 . n_Û|òü÷‘· ø±\+  2 ôd. nsTT‘̊  F

1
 eT]j·TT F

2
 \qT ø£qTø√ÿ+&ç.

(a) Newton’s first law of motion gives a qualitative definition of force.  Justify.
(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an

initial velocity of 10 ms−1 and 5 ms−1 respectively.  They collide with each other.
After collision, they move with velocities 4 ms−1 and 9 ms−1 respectively.  The
time of collision is 2 s.  Now calculate F

1
 and F

2
.

55. <äèwæº ˝ÀbÕ\ >∑T]+∫ $e]+#·+&ç. Ä ˝ÀbÕ\qT @ $<Ûä+>± düe]+#·e#·TÃ ?
State and explain the defects of Vision.  How can these defects be rectified ?

- o O o -


